
A

A

ADV1
ROD34/

p1

n1n1

TACK WELD

n1

1'-014/

4
THREADED

3 4/ Ø

112/

3

A - A

1 - 1316/ Ø HOLEp1

3

112/

11
2/

11
2/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

ADV1 72

ADV1 72 ROD3/4" 1'-0 1/4" 95 NO PAINT F1554-GR.36

SQ-2ANCHOR_RODS

p1 72 PL3/8"X3" 0'-3" 69 A36

216 3/4_HEAVY_HEX_NUT 39

TOTAL WEIGHT THIS DRAWING 164

72 - ANCHOR_RODS - ADV1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

ADV1

ANCHOR_RODADV1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



B1
W21X68

14/
3 SIDES

a1 (B/S)

3
3

A

A

24'-11116/

12
13

.3
1°

21316/

41316/

4
3

3

312/

14/

DETAIL - A

SHOWN FOR CLARITY.
CONN. ANGLE NOT

11316/

12/58/

11116/

R 3
8/

11
16/

3 4/

17
16/

3 4/
11

16/

17
16/

118/58/

R3 8/

A - A

10 - (1316/ "x1") SLOTS

a1a1

234/234/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B1 2

B1 2 W21X68 24'-11 1/16" 3393 SHOP PRIME A992

SQ-1/BEV-1BEAMS

a1 4 L4X3-1/2X3/8 1'-3" 46 A36

3/4"Ø A325N BOLT 0'-2 1/4"20 Site

TOTAL WEIGHT THIS DRAWING 3438

2 - BEAMS - B1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B1

BEAMB1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



12/

B2
HSS10X6X516/

p14
7 - p2

10

p14

17'-6716/ 21'-6716/

12/

TYPA

A

B

B

14/
TYP

TYP

13'-6716/ 25'-6716/

27'-078/

27'-178/

1'-6716/

9'-6716/5'-6716/RD

A - A

4 - 1316/ Ø HOLES

p14

234/
8

8
11

2/
11

2/
234/

1'
-7

B - B

p2

3

1'-558/

12/

1 2/

14/
14/

3

2
6

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B2 1

B2 1 HSS10X6X5/16 27'-0 7/8" 807 SHOP PRIME A500-GR.B

SQ-2BEAM

p2 7 PL5/16"X6" 1'-2 5/8" 54 A36

p14 2 PL1/2"X8 1/2" 1'-7" 46 A36

3/4"Ø A325N BOLT 0'-2 1/2"4 Site

3/4"Ø A325N BOLT 0'-2 1/4"4 Site

TOTAL WEIGHT THIS DRAWING 907

ONE - BEAM - B2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B2

BEAMB2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



p13

12/

TYP
7 - p2

p13

p16
CTR'D

18'-4116/

B3
HSS10X6X516/

14'-4116/

14/
TYP

10

26'-4116/

p15
CTR'D

11
3 16/

TYPA

A

B

B
558/

1 - 1316/ Ø HOLE

2'-4116/RD

14/
14/

1 - 1316/ Ø HOLE

14/
14/

28'-812/12/

28'-912/

22'-4116/10'-4116/6'-4116/

1'
-4

3 8/

41516/

3

p13

A - A

8 - 1316/ Ø HOLES

p15

11
2/

2'
-1

234/ 234/

3
8

8
11

2/

B - B

14/
14/

2

p2

12/

1 2/

3

1'-558/

3

6

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B3 1

B3 1 HSS10X6X5/16 28'-8 1/2" 856 SHOP PRIME A500-GR.B

SQ-2BEAM

p2 7 PL5/16"X6" 1'-2 5/8" 54 A36

p13 2 PL1/2"X9" 2'-1" 64 A36

p15 1 PL1/2"X10 11/16" 0'-11 7/16" 15 A36

p16 1 PL1/2"X10 3/16" 1'-4 7/16" 21 A36

3/4"Ø A325N BOLT 0'-2 1/2"16 Site

TOTAL WEIGHT THIS DRAWING 1010

ONE - BEAM - B3

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B3

BEAMB3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



312/

3

B4
W21X68

7'-
51

5 16/

1231
.2

5°

7516/

6

14/
3 SIDES

TYP

11916/

8 - 1316/ Ø HOLES

512/

A

A

312/

DET. A

3

a1 (B/S)

3

3

57
16/

w5
9

p17
CTR'D

3

1316/ Ø HOLE

p24
CTR'D

23'-3716/

14/
14/

3

a7 (B/S)1 - 1316/ Ø HOLE
3 - 1316/ Ø HOLES IN PLATE
BOLT TO SHIP

7 - 1316/ Ø HOLES

6 1
8/

112/12

29.38°

634/

3

3

CJP

2

14/
14/ 53

8/

3'-101116/

21
2/

12/

14/19'-412/

614/

3

7'
-3

13
16/

7'-
01

5 16/

3

6716/

234/

A - A

a1

a7 a7

a1

3

p24

10 - (1316/ "x1") SLOTS

6 - 1316/ Ø HOLES

5

234/

33
16/

1'
-1

15
8/ 3

3
3

3
3

DETAIL - A

34/ 38/

112/

11
16/

17
16/

38/34/

3 4/

112/

17
16/

11
16/

3 4/

R 3
8/

R3 8/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B4 1

B4 1 W21X68 19'-4 1/2" 1319 SHOP PRIME A992

SQ-1/BEV-1BEAM

a1 2 L4X3-1/2X3/8 1'-3" 23 A36

a7 2 L4X3-1/2X3/8 0'-9" 14 A36

p17 1 PL1/2"X10 7/16" 1'-3" 15 A36

p24 1 PL1/2"X10 11/16" 1'-4 7/16" 22 A36

w59 1 W21X68 7'-5 15/16" 510 A992

3 3/4"Ø A325N BOLT 0'-2 1/2" 2 Workshop

3/4"Ø A325N BOLT 0'-2 1/2"16 Site

TOTAL WEIGHT THIS DRAWING 1905

ONE - BEAM - B4

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B4

BEAMB4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



4

3

B5
W16X36

3

R 1
2/

27
8/

29'-238/

TYP
21316/

B

B

14/
3 SIDES
TYP

a5 (B/S)

312/

a4 (B/S)

21
2/

A

A378/238/

3

31
4/

234/

1

3516/

12
13

.3
1°

21316/

17
8/

3

3

12

13
.3

1°

21316/

312/

17
8/

3

41
16/

A - A

a5
6 - (1316/ "x1") SLOTS

a5

234/234/

B - B

a4 a4

8 - (1316/ "x1") SLOTS

234/234/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B5 10

B5 10 W16X36 29'-2 3/8" 10532 SHOP PRIME A992

BEV-2BEAMS

a4 20 L4X3-1/2X3/8 1'-0" 182 A36

a5 20 L4X3-1/2X3/8 0'-9" 137 A36

3/4"Ø A325N BOLT 0'-2 1/4"80 Site

3/4"Ø A325N BOLT 0'-1 3/4"60 Site

TOTAL WEIGHT THIS DRAWING 10851

10 - BEAMS - B5

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B5

BEAMB5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



31
2/ 3 3

1716/

458/

21
.1

3°12
3

B6
W16X36

3

2

A

A

2 1
2/

14/
14/

3 SIDES 
TYP

14/
14/

3 SIDES 
TYP

DET. A
DET. Ba4 (B/S) a4 (B/S)

A

A

20'-8716/

7516/

31
.2

5°12

2

3
3

31
2/

1 2/

1 2/

7516/

31
.2

5°

12
111516/

TYP

23
8/

DETAIL- A

458/

20
.9

4°12

234/

R
1 2/

21716/

51
4/

7516/

31
.2

5°12

1
71

4/

21
3 16/

3 4/
21

5 16/

A - A

a4 a4

234/

8 - (1316/ "x1") SLOTS

234/

TYP

DETAIL- B

2 1
2/

11716/

4116/

7516/

31
.2

5°

12
35

16/

63
4/

61
5 16/

412/

31
16/ R
1 2/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B6 8

B6 8 W16X36 20'-8 7/16" 5974 SHOP PRIME A992

SQ-2BEAMS

a4 32 L4X3-1/2X3/8 1'-0" 292 A36

TOTAL WEIGHT THIS DRAWING 6266

8 - BEAMS - B6

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B6

BEAMB6 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL

SHOWN FOR CLARITY.
CONN. ANGLE NOT 

SHOWN FOR CLARITY.
CONN. ANGLE NOT 



B7
W16X36

TYP

19'-21116/

11
4/

a2 (B/S)

A

A

a2 (B/S)

TYP

14/
3 SIDES 
TYP

12/

312/

312/

11
4/

312/

312/

19'-11116/12/

312/

11
4/

11
4/

312/

R 1
2/

A - A

a2
3 8 - (1316/ "x1") SLOTS

a2
3

234/

3

234/

3

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B7 10

B7 10 W16X36 19'-1 11/16" 6904 SHOP PRIME A992

SQ-2BEAMS

a2 40 L4X3-1/2X3/8 1'-0" 365 A36

3/4"Ø A325N BOLT 0'-2 1/4"80 Site

3/4"Ø A325N BOLT 0'-1 3/4"80 Site

TOTAL WEIGHT THIS DRAWING 7269

10 - BEAMS - B7

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B7

BEAMB7 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



B8
HSS6X6X516/

18'-101516/

B8

2 - 1316/ Ø THR'U HOLES

6

1 - 1316/ Ø THR'U HOLE

18'-8RD

2

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B8 1

B8 1 HSS6X6X5/16 18'-10 15/16 414 SHOP PRIME A500-GR.B

SQ-2BEAM

3/4"Ø A325N BOLT 0'-8 1/4"1 Site

3/4"Ø A325N BOLT 0'-7 3/4"2 Site

TOTAL WEIGHT THIS DRAWING 414

ONE - BEAM - B8

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B8

BEAMB8 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



B9
HSS6X6X516/

18'-81516/

1 - 1316/ Ø THR'U HOLE

B9

18'-6RD

3

1 - 1316/ Ø THR'U HOLE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B9 1

B9 1 HSS6X6X5/16 18'-8 15/16" 410 SHOP PRIME A500-GR.B

SQ-2BEAM

3/4"Ø A325N BOLT 0'-8 1/4"2 Site

TOTAL WEIGHT THIS DRAWING 410

ONE - BEAM - B9

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B9

BEAMB9 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



B10
W14X30

3

3 - 1316/ Ø HOLES 3 - 1316/ Ø HOLES
DET. A

TYP

33

17'-8316/

6 - 1316/ Ø HOLES

4

6 - 1316/ Ø HOLES

3

512/

17'-91116/

112/

4

11'-918/

512/

5'-718/RD

41
4/

41
4/

33 3

3

3 4/

DETAIL - A

11
8/

3 8/
114/

316/

14/

112/

11
8/

3 4/
3 8/

112/

1516/

R
3 8/

R 3
8/

3 8/
3 8/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B10 1

B10 1 W14X30 17'-9 11/16" 536 SHOP PRIME A992

SQ-2BEAM

3/4"Ø A325N BOLT 0'-1 3/4"6 Site

TOTAL WEIGHT THIS DRAWING 536

ONE - BEAM - B10

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B10

BEAMB10 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



12/

B11
W16X36

3

3
3

a4

8 - 1316/ Ø HOLES

TYP

TYP
512/

8 - 1316/ Ø HOLES

A

A

11
2/

4

a19 a213

a33

14/
TYP

R 1
2/

12/18'-4916/

4 512/

18'-5916/

3

312/

11
2/

3

12'-0916/5'-1012/RD

312/

3

A - A

7 - (1316/ "x1") SLOTS

a4a19
3

3

234/234/

3
3

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B11 1

B11 1 W16X36 18'-4 9/16" 663 SHOP PRIME A992

SQ-2BEAM

a3 1 L4X3-1/2X3/8 1'-0" 9 A36

a4 1 L4X3-1/2X3/8 1'-0" 9 A36

a19 1 L4X3-1/2X3/8 0'-9" 7 A36

a21 1 L4X3-1/2X3/8 0'-9" 7 A36

3/4"Ø A325N BOLT 0'-2 1/2"6 Site

3/4"Ø A325N BOLT 0'-2"7 Site

TOTAL WEIGHT THIS DRAWING 695

ONE - BEAM - B11

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B11

BEAMB11 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



w49

3

3

A

A

3

B12
W16X36

512/
4 - 1316/ Ø HOLES

TYP
12'-0916/

w49

3

4 - 1316/ Ø HOLES8 - 1316/ Ø HOLES 8 - 1316/ Ø HOLES

18'-3116/

18'-4916/

11'-111316/

3

5'-934/

5'-1012/RD

3

3

512/

3

112/

3 3
3

3

33

3
3

T&
B 

C
U

T

w49B12 w49

T&B CUT

T&
B 

C
U

T

T&B CUT
334/

35
16/

334/

31
2/

A - A

w49

21516/

14/
14/

314/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B12 1

B12 1 W16X36 18'-4 9/16" 663 SHOP PRIME A992

SQ-2BEAM

w49 2 HSS6X6X1/4 0'-7" 21 A500-GR.B

3/4"Ø A325N BOLT 0'-2"8 Site

TOTAL WEIGHT THIS DRAWING 684

ONE - BEAM - B12

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B12

BEAMB12 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



14/
3 SIDES TYP

18'-4716/

21
16/

A

A
18'-5716/

a7 (B/S)

14/
14/

TYP

1 - 1316/ Ø HOLE
3 - 1316/ Ø HOLES IN PLATE
BOLT TO SHIP

112/

B13
W14X30

3 - 1316/ Ø HOLES IN PLATE
BOLT TO SHIP

1 - 1316/ Ø HOLE

p28
CTR'D

p26
CTR'D

p25
CTR'D p27

CTR'D

a5 (B/S)

3

1 - 1316/ Ø HOLE
a7 (B/S)

3 - 1316/ Ø HOLES IN PLATE
BOLT TO SHIP

a5 (B/S)

A

A

3 - 1316/ Ø HOLES IN PLATE
BOLT TO SHIP

a7 (B/S)

a7 (B/S)

1 - 1316/ Ø HOLE

12/12/

8116/

1058/

112/12/

12/

21
16/

41
4/

43
16/

41
4/

43
16/

818/

101116/

21
16/

21
16/

12/112/

12/112/

3
3

3
3

3
3

3

312/ 312/

A - A

3

3

3
a7

a5

a7

6 - 1316/ Ø HOLES

a7

a5

21
16/

a7

6 - (1316/ "x1") SLOTS

6 - 1316/ Ø HOLES

p25

p26

234/234/

3
21

16/1'
-3

15
16/

3

3
3

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B13 1

B13 1 W14X30 18'-4 7/16" 553 SHOP PRIME A992

SQ-2BEAM

a5 4 L4X3-1/2X3/8 0'-9" 27 A36

a7 8 L4X3-1/2X3/8 0'-9" 55 A36

p25 1 PL1/2"X9 5/8" 1'-3 1/16" 18 A36

p26 1 PL1/2"X9 5/8" 1'-0 1/2" 15 A36

p27 1 PL1/2"X9 5/8" 1'-3 1/8" 18 A36

p28 1 PL1/2"X9 5/8" 1'-0 9/16" 15 A36

12 3/4"Ø A325N BOLT 0'-2 1/2" 8 Workshop

3/4"Ø A325N BOLT 0'-2 1/4"6 Site

3/4"Ø A325N BOLT 0'-2"24 Site

TOTAL WEIGHT THIS DRAWING 710

ONE - BEAM - B13

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B13

BEAMB13 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



112/
3

p35
CTR'D

112/

3 - 1316/ Ø HOLES

3

17'-11116/5'-31316/RD

B14
W16X36 3 - 1316/ Ø HOLES

512/
11'-51316/

17'-3316/

1 - 1316/ Ø HOLE

p34
CTR'D

DET. A

3

71
2/

3 - 1316/ Ø HOLES IN PLATE
BOLT TO SHIP

a7 (B/S)

3 - 1316/ Ø HOLES IN PLATE
BOLT TO SHIP

A

A

a7 (B/S)
16'-938/

71
2/

1 - 1316/ Ø HOLE

534/

TYP

4

TYP

3

14/
14/

12/

14/
14/

8 - 1316/ Ø HOLES8 - 1316/ Ø HOLES

512/

4

12/

83
4/

112/

3

83
4/

3

3
3

3

3
3

3
3

3
3

3

312/
312/

112/

DETAIL - A

114/

14/

14/

7 16/
3 4/

7 16/

13
16/

13
16/

3 4/

114/

R
3 8/

112/
R 3

8/

A - A

a7

p34

a7

3
3 6 - 1316/ Ø HOLES

71
2/

1'
-1

13
8/

234/ 234/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B14 1

B14 1 W16X36 17'-3 3/16" 623 SHOP PRIME A992

SQ-2BEAM

a7 4 L4X3-1/2X3/8 0'-9" 27 A36

p34 1 PL1/2"X15" 1'-4 7/8" 26 A36

p35 1 PL1/2"X15" 1'-4 15/16" 26 A36

6 3/4"Ø A325N BOLT 0'-2 1/2" 4 Workshop

3/4"Ø A325N BOLT 0'-2"12 Site

3/4"Ø A325N BOLT 0'-1 3/4"6 Site

TOTAL WEIGHT THIS DRAWING 707

ONE - BEAM - B14

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B14

BEAMB14 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



14/
3 SIDES

B15
W21X68

A

A

a1 (B/S)41316/

312/
25'-178/

12
13

.3
1°

21316/

3
3

3
3

55
16/ 14/

41
2/

17
16/

11316/

DETAIL - A

3 4/

11116/

SHOWN FOR CLARITY.
CONN. ANGLE NOT

11
16/ 118/58/

12/
17

16/ 58/

11
16/

3 4/ R 3
8/

R3 8/

A - A

a1

234/

a1

10 - (1316/ "x1") SLOTS

234/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B15 4

B15 4 W21X68 25'-1 7/8" 6850 SHOP PRIME A992

SQ-1/BEV-1BEAMS

a1 8 L4X3-1/2X3/8 1'-3" 91 A36

3/4"Ø A325N BOLT 0'-2"40 Site

TOTAL WEIGHT THIS DRAWING 6941

4 - BEAMS - B15

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B15

BEAMB15 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



3

3 8 - 1316/ Ø HOLES

3

w5
9

7'
-3

13
16/

6

23'-31116/

B16
W21X68

312/
3'-101116/

A

A

512/
CJP

DET. A

3

a1 (B/S)

1231
.2

5°

7516/

7 - 1316/ Ø HOLES
14/

3 SIDES
TYP

7'-
51

5 16/

19'-434/ 14/

2

614/

3

6 1
8/

12

29.38°

634/

3

3

7'-
01

5 16/

3

A - A

3
3

a1

a1

10 - (1316/ "x1") SLOTS
5

3

234/

3

234/

34/

DETAIL - A

34/
17

16/

11
16/

3 4/
11

16/
3 4/

38/

112/

17
16/

38/

R3 8/

112/

R38/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B16 1

B16 1 W21X68 19'-4 3/4" 1320 SHOP PRIME A992

SQ-1/BEV-1BEAM

a1 2 L4X3-1/2X3/8 1'-3" 23 A36

w59 1 W21X68 7'-5 15/16" 510 A992

3/4"Ø A325N BOLT 0'-2 1/4"10 Site

TOTAL WEIGHT THIS DRAWING 1853

ONE - BEAM - B16

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B16

BEAMB16 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



19'-358/

19'-218/

B17
W14X30

12'-9116/

3 - 1316/ Ø HOLES3 - 1316/ Ø HOLES

6'-1116/RD

3

112/

TYP
DET. A 6 - 1316/ Ø HOLES 6 - 1316/ Ø HOLES

512/

4

41
4/

41
4/

4

512/

3
33

3
3

3
3

DETAIL - A

3 4/
114/

3 8/

R
3 8/

11
8/

14/
3 8/

112/

11
8/ 3 4/

112/

1516/316/

R 3
8/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B17 3

B17 3 W14X30 19'-3 5/8" 1744 SHOP PRIME A992

SQ-2BEAMS

3/4"Ø A325N BOLT 0'-1 3/4"18 Site

TOTAL WEIGHT THIS DRAWING 1744

3 - BEAMS - B17

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B17

BEAMB17 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



112/

4 - 1316/ Ø HOLES

w49

512/

B18
W16X36

4 - 1316/ Ø HOLES

3

w49

TYP

33

A

A

8 - 1316/ Ø HOLES8 - 1316/ Ø HOLES

19'-10916/

33

19'-9116/13'-012/

3

6'-4916/RD

512/

12'-1134/6'-334/

3
3

3

33

3

3 3
3

3

35
16/

B18

T&
B 

C
U

T

w49w49

T&B CUT

T&
B 

C
U

T

T&B CUT
334/ 334/

31
2/

A - A

w49

14/

21516/

14/

314/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B18 2

B18 2 W16X36 19'-10 9/16" 1434 SHOP PRIME A992

SQ-2BEAMS

w49 4 HSS6X6X1/4 0'-7" 42 A500-GR.B

3/4"Ø A325N BOLT 0'-2"16 Site

TOTAL WEIGHT THIS DRAWING 1476

2 - BEAMS - B18

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B18

BEAMB18 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



12/

a6

3

13'-012/

512/

A

A
B19
W16X36

512/

11
2/

a4

TYP

8 - 1316/ Ø HOLES 8 - 1316/ Ø HOLES

a21 3

14/
TYP

a21

3

4

TYP

6'-412/RD

12/19'-1012/

4

3
3

19'-1112/

11
2/

3

R 1
2/

3

3

312/ 312/

A - A a6

a21
7 - (1316/ "x1") SLOTS

234/

3

234/

3
3

3
3

3
3

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B19 1

B19 1 W16X36 19'-10 1/2" 717 SHOP PRIME A992

SQ-2BEAM

a4 1 L4X3-1/2X3/8 1'-0" 9 A36

a6 1 L4X3-1/2X3/8 1'-0" 9 A36

a21 2 L4X3-1/2X3/8 0'-9" 14 A36

3/4"Ø A325N BOLT 0'-2 1/2"8 Site

TOTAL WEIGHT THIS DRAWING 749

ONE - BEAM - B19

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B19

BEAMB19 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



B20
HSS6X6X516/

19'-1178/

19'-81516/RD

1 - 1316/ Ø THR'U HOLE1 - 1316/ Ø THR'U HOLE

21516/
B20

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

B20 12

B20 12 HSS6X6X5/16 19'-11 7/8" 5249 SHOP PRIME A500-GR.B

SQ-2BEAMS

3/4"Ø A325N BOLT 0'-8 1/4"23 Site

3/4"Ø A325N BOLT 0'-7 3/4"1 Site

TOTAL WEIGHT THIS DRAWING 5249

12 - BEAMS - B20

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B20

BEAMB20 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



p6 (B/S)

bp2

19
'-0

1 8/

C
1

Ea
st

W
14

X4
8

p46

p3

3 4/

CC

A

A

BB

DD

14/
14/

3 SIDES

p22 (B/S)

17
'-1

11
16/

R
D

p6 (B/S)

14/
14/

3 SIDES

TYP

3 4/
18

'-1
05

8/

18
'-9

3 8/

63
16/

16
'-7

A - A

558/

234/

4 - 1316/ Ø HOLES

3

C
1

4- p6

3

p3
3 - (1316/ "x1") SLOTS

p46

2- p22

bp2

3

15
'-3

10 - 1316/ Ø HOLES

234/

17
'-1

13
4/

R
D

17
'-6

3 4/

3
3

3

4

B - B

1'
-4

4 - 1 116/ Ø HOLES

14/
14/

3 SIDES

3

bp2

3
5

5

4

3

1'-2

3

C - C

p22

p22

14/
14/

3 SIDES
TYP

D - D

p3

p6
14/
14/

3 SIDES
TYP

p6 18/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C1 1

C1 1 W14X48 18'-10 5/8" 906 SHOP PRIME A992

SQ-2COLUMN

bp2 1 PL3/4"X14" 1'-4" 48 A36

p3 1 PL3/8"X7" 1'-1 1/8" 8 A36

p6 4 PL3/8"X3 13/16" 1'-0 1/2" 20 A36

p22 2 PL3/4"X3 13/16" 1'-0 1/2" 20 A36

p46 1 PL3/4"X8" 1'-1 3/4" 23 A36

TOTAL WEIGHT THIS DRAWING 1026

ONE - COLUMN - C1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C1

COLUMNC1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



C
2

Ea
st

W
14

X1
20

p45

19
16/

37
16/

bp1

14/

C
U

T

A

A

DD

B

B

CC

3 4/
24

'-9
1 2/

24
'-1

11
3 16/

6
6

12
13.31°

21
3 16/

311 16/
35 16/

3
17

'-7

A - A

3

p45

bp1

8 - 1316/ Ø HOLES

234/234/

16
'-3

R
D

B - B

234/

bp1

p45

234/

4 - 1316/ Ø HOLES

16
'-3

R
D

17
'-7

14/

C - C

bp1 4 - 1 116/ Ø HOLES

5445

1'
-8

1'-6

5
5

5
5

D - D

8 - 1 116/ Ø HOLES

p45

23
4/

23
4/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C2 1

C2 1 W14X120 24'-9 1/2" 2978 SHOP PRIME A992

SQ-1/BEV-1COLUMN

bp1 1 PL3/4"X18" 1'-8" 77 A36

p45 1 PL3/4"X16" 1'-10" 75 A36

3/4"Ø A325N BOLT 0'-2 1/2"8 Site

TOTAL WEIGHT THIS DRAWING 3130

ONE - COLUMN - C2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C2

COLUMNC2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



BB

a16

p19

412/

bp3

p8 (B/S)

a16

16
'-8

11
16/

R
D

61
5 16/

TYP

a14

C
3

Ea
st

W
14

X1
20

a23

18 - 1316/ Ø HOLES

p47

p5 (B/S)
FF

412/

DD

A

A

EE
p23 (B/S)6 - 1316/ Ø HOLES

CC
TYP

14/
14/

3 SIDES

CC
SIM

412/512/412/

39
'-6

1 2/

51
4/

61
8/

3 4/
41

'-1
11

8/
3 4/

42
'-0

5 8/

40
'-3

1 2/
38

'-8
29

'-2
14

'-8
R

D

51
16/

512/

3
3

3
3

3
3

3
3

1 - 1316/ Ø HOLE

A - A

16 - 1316/ Ø HOLES

2- p23

bp3

p47

p19
CTR'D

10
7 16/

234/

p5

234/

C
3

a14

14/
TYPa16

a16

a23

14/
TYP

3 - (1316/ "x1") SLOTS

2- p8

8 - 1316/ Ø HOLES

1112/

65
8/

41
'-1

7 8/

234/234/

81516/

39
'-6

1 4/
15

'-3
R

D

3
3

3
3

3
3

3
3

1'
-4

3
3

F - F

p8 p5

p8
14/
14/

3 SIDES
TYP

316/

E - E

p23

p23

14/
14/

3 SIDES
TYP

p19

B - B

6 - 1 116/ Ø HOLESbp3

14/

6 14/
14/

5

1'-6

1'
-1

11
4/

544

4
5

5
31

4/
3

C - C

2

2 - 1316/ Ø HOLES

a23

2
3

1014/

D - D

a16

1 - 1316/ Ø HOLE

1014/

3
3

ONE - COLUMN - C3
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C3

COLUMNC3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL

REVISIONS

NO DESCRIPTION DATE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C3 1

C3 1 W14X120 41'-11 1/8" 5037 SHOP PRIME A992

SQ-2COLUMN

a14 1 L6X6X1/2 0'-10" 16 A36

a16 2 L6X6X1/2 0'-6" 20 A36

a23 1 L6X6X1/2 0'-10" 16 A36

bp3 1 PL3/4"X18" 1'-11 1/4" 89 A36

p5 1 PL3/8"X10 3/16" 1'-2 3/4" 14 A36

p8 2 PL3/8"X7 1/16" 1'-0 5/8" 19 A36

p19 1 PL1/2"X14 7/8" 1'-3 5/8" 29 A36

p23 2 PL3/4"X7 1/16" 1'-0 5/8" 37 A36

p47 1 PL3/4"X14 1/2" 1'-2 5/8" 45 A36

TOTAL WEIGHT THIS DRAWING 5322



p49

p44 (B/S)

p7 (B/S)

p4 (B/S)

C
4

Ea
st

W
8X

40

A

A

BB

CC

DET. A

14/
14/

3 SIDES

67
8/

4'
-1

07
8/

R
D

6'
-8

1 4/

3 4/
6'

-7
1 2/

A - A

51116/

5'
-4

1 4/
R

D

p4 10 - 1316/ Ø HOLES

5'
-9

5 8/

234/

2- p7
2- p44

p46 - (1316/ "x1") SLOTS

p49

C
4

234/

51116/

3
3

3
3

3
3

B - B

14/
14/

3 SIDES 
TYP

p44

p44

C - C

14/
14/

3 SIDE
TYP

p4p7

p7
p4

18/

18/

11
2/

3 8/

DETAIL- A

11
8/

3 8/

1516/

11
2/

11
8/

1516/

R
3 8/

34/5 16/ 34/

R 3
8/

5 16/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C4 4

C4 4 W8X40 6'-7 1/2" 1055 SHOP PRIME A992

SQ-2COLUMNS

p4 8 PL3/8"X7" 1'-1 3/8" 67 A36

p7 8 PL3/8"X3 7/8" 0'-7 1/8" 23 A36

p44 8 PL3/4"X3 7/8" 0'-7 1/8" 45 A36

p49 4 PL3/4"X8 1/8" 0'-8 1/4" 57 A36

TOTAL WEIGHT THIS DRAWING 1247

4 - COLUMNS - C4

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C4

COLUMNC4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



35
16/

11
1 16/

C
5

Ea
st

W
14

X6
1

p45

bp53 4/

C
U

T

AA

BB

14/

24
'-9

7 16/

31 2/
31 2/

6
6

24
'-1

11
3 16/

12
13.31°

21
3 16/

B - B

p45

23
4/

8 - 1 116/ Ø HOLES

23
4/

A - A

bp5

14/
14/

3 SIDES

4 - 1 116/ Ø HOLES

344

3

3

1'
-4

5

1'-2

5
3

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C5 1

C5 1 W14X61 24'-9 7/16" 1510 SHOP PRIME A992

SQ-1/BEV-1COLUMN

bp5 1 PL3/4"X14" 1'-4" 48 A36

p45 1 PL3/4"X16" 1'-10" 75 A36

3/4"Ø A325N BOLT 0'-2 1/2"8 Site

TOTAL WEIGHT THIS DRAWING 1632

ONE - COLUMN - C5

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C5

COLUMNC5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



a12

BB

C
6

Ea
st

W
14

X9
0

p8 (B/S)

a12

p20

14/
14/

3 SIDES

bp3

a12

61
8/

A

A

a12

p48

a12

3

p5 (B/S)

a12

TYP

EE

CC

DD

61
5 16/

p23 (B/S)

18 - 1316/ Ø HOLES

6 - 1316/ Ø HOLES

414/512/414/

51
4/

42
'-0

5 8/

40
'-3

1 2/
38

'-8
29

'-2
14

'-8
R

D

61
8/

61
8/

512/ 414/414/

51
16/

39
'-6

1 2/
16

'-8
11

16/
R

D

3 4/

3

41
'-1

11
8/

3 4/

3
3

3
3

3
3

14/
TYP

A - A

a12

1 - 1316/ Ø HOLE

2- p23

a12

bp3

p48

p20
CTR'D

p5

a12

6 - (1316/ "x1") SLOTS

a12

10
3 8/

p5

a12

C
6

a12

10 - 1316/ Ø HOLES

2- p8

11716/

41
'-1

7 8/
R

D

40
'-6

7 8/

878/ 878/

234/234/

3
3

3
3

3
3

E - E

p8 p5

p5p8 14/
14/

TYP

14/
14/

3 SIDES
TYP

316/

316/

14/
14/

3 SIDES
TYP

p23

D - D

p235

1'
-1

11
4/

p20

B - B

6 - 1 116/ Ø HOLESbp3

14/
14/

4

14/

1'-6

4 4 5

31
4/

6
5

5
2

C - C

3

a12

2 - 1316/ Ø HOLES

1014/

3
2

ONE - COLUMN - C6
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C6

COLUMNC6 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL

REVISIONS

NO DESCRIPTION DATE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C6 1

C6 1 W14X90 41'-11 1/8" 3781 SHOP PRIME A992

SQ-2COLUMN

a12 6 L6X6X1/2 0'-10" 98 A36

bp3 1 PL3/4"X18" 1'-11 1/4" 89 A36

p5 2 PL3/8"X10 3/16" 1'-2 3/4" 28 A36

p8 2 PL3/8"X7 1/16" 1'-0 5/8" 19 A36

p20 1 PL1/2"X14 13/16" 1'-3 5/8" 29 A36

p23 2 PL3/4"X7 1/16" 1'-0 5/8" 37 A36

p48 1 PL3/4"X14" 1'-2 1/2" 43 A36

TOTAL WEIGHT THIS DRAWING 4124



3

12
13.31°

21
3 16/

bp4

a15

61
8/

TYP

p45

EE

a17

a17

p9

C
U

T

a17

C
7

Ea
st

W
14

X6
1

24
'-1

11
3 16/

6

11
1 16/

a17
11

'-7
1 4/

24
'-9

7 16/

234/

a17

a17

A

A

BB

DD

14/

6 - 1316/ Ø HOLES

a17

a17

CC

14/
14/

3 4/

311 16/

61
8/

35 16/

23
'-1

07
8/

10
'-6

1 4/
R

D

6

22
'-7

1 4/

35
16/

234/

3

A - A

1 - 1316/ Ø HOLES

9716/

p9
CTR'D

a17 (B/S)

a17 (B/S)

a17 (B/S)

a17 (B/S)

bp4

p45

14/
TYP

11
3 8/

a15
C - C

3
3

2 - 1316/ Ø HOLES

a15

2
2

1014/

E - E

23
4/

8 - 1 116/ Ø HOLES

p45

23
4/

1'-2

B - B

p9

bp4 6 - 1 116/ Ø HOLES
14/
14/

3 SIDES

2

14/
14/

3 4

5

4 3

1'
-9

1 4/ 5
6

31
4/

3

1 - 1316/ Ø HOLE

a17

1014/

D - D
1 - 1316/ Ø HOLE

a17

1014/

3

3
3

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C7 1

C7 1 W14X61 24'-9 7/16" 1510 SHOP PRIME A992

SQ-1/BEV-1COLUMN

a15 1 L6X6X1/2 0'-10" 16 A36

a17 8 L6X6X1/2 0'-6" 79 A36

bp4 1 PL3/4"X14" 1'-9 1/4" 63 A36

p9 1 PL1/2"X13 5/8" 1'-3 3/4" 28 A36

p45 1 PL3/4"X16" 1'-10" 75 A36

3/4"Ø A325N BOLT 0'-2 1/2"8 Site

TOTAL WEIGHT THIS DRAWING 1770

ONE - COLUMN - C7

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C7

COLUMNC7 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



414/

p8 (B/S)

3

3

14/
14/

3 SIDES
TYP

TYP

C
8

Ea
st

W
14

X9
0

a12

bp3

a12

p21

DD

BB

CC

A

A

p48

a12

3

a12

a12

a12

p5 (B/S)

61
8/

EE

39
'-6

1 2/

p23 (B/S)

18 - 1316/ Ø HOLES

6 - 1316/ Ø HOLES

512/414/

16
'-8

11
16/

R
D

51
4/

61
8/

3 4/
41

'-1
11

8/
3 4/

42
'-0

5 8/

40
'-3

1 2/
38

'-8
29

'-2
14

'-8
R

D

61
8/

512/ 414/414/

51
16/

61
5 16/

3

3
3

3
3

A - A

40
'-6

7 8/

p5

p5

2- p8

a12

a12

a12

a12

a12

14/
TYP

C
8

6 - (1316/ "x1") SLOTS

41
'-1

7 8/
R

D

bp3

p21
CTR'D

p48

878/

2- p23

a12

10 - 1316/ Ø HOLES

1 - 1316/ Ø HOLE

878/

234/ 234/

3

99
16/

11716/

3

3
3

3
3

E - E

p8 p5

p5p8

316/

14/
14/

3 SIDES
TYP

316/

14/
14/

3 SIDES
TYP

p23

D - D

p234

1'-6

bp3

B - B

6 - 1 116/ Ø HOLES

1'
-1

11
4/

531
4/

14/

p21

14/
14/

4 5

4
5

5
6

C - C

3

a12

2 - 1316/ Ø HOLES

2
3

2

1014/

ONE - COLUMN - C8
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C8

COLUMNC8 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL

REVISIONS

NO DESCRIPTION DATE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C8 1

C8 1 W14X90 41'-11 1/8" 3781 SHOP PRIME A992

SQ-2COLUMN

a12 6 L6X6X1/2 0'-10" 98 A36

bp3 1 PL3/4"X18" 1'-11 1/4" 89 A36

p5 2 PL3/8"X10 3/16" 1'-2 3/4" 28 A36

p8 2 PL3/8"X7 1/16" 1'-0 5/8" 19 A36

p21 1 PL1/2"X14" 1'-3 5/8" 27 A36

p23 2 PL3/4"X7 1/16" 1'-0 5/8" 37 A36

p48 1 PL3/4"X14" 1'-2 1/2" 43 A36

TOTAL WEIGHT THIS DRAWING 4122



p45

61
8/

CC

A

A

10
'-6

1 4/
R

D

bp4

a18

23
'-1

07
8/

11
1 16/

C
9

Ea
st

W
14

X6
1

p9

C
U

T

TYP

a15

6

a15

a15
24

'-1
11

3 16/

a15

a15

6 - 1316/ Ø HOLES

a18

6

BB

DD

14/

311 16/

a18

a18

B

B

61
8/

35 16/

3 4/
24

'-9
7 16/

12
13.31°

21
3 16/

11
'-7

1 4/
22

'-7
1 4/

35
16/

234/234/

3
3

11
3 8/

A - A

p9
CTR'D

a15

a15

a15

p45

bp4

a15

14/
14/

TYP

1 - 1316/ Ø HOLE

9716/

B - B

14/
TYP

a15

p9

p45

a18

a18

a18

a18

bp4

C
9

D - D

p45

23
4/

8 - 1 116/ Ø HOLES

23
4/

B - B

14/
14/

3 SIDES

14/
14/

6 - 1 116/ Ø HOLES

p9bp4

1'
-9

1 4/

1'-2

3

6

443

31
4/

5
5

2

C - C 2 - 1316/ Ø HOLES

a15

2

1 - 1316/ Ø HOLE

a18

3
3

3
3

1014/

2

1014/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C9 1

C9 1 W14X61 24'-9 7/16" 1510 SHOP PRIME A992

SQ-1/BEV-1COLUMN

a15 5 L6X6X1/2 0'-10" 82 A36

a18 4 L6X6X1/2 0'-6" 39 A36

bp4 1 PL3/4"X14" 1'-9 1/4" 63 A36

p9 1 PL1/2"X13 5/8" 1'-3 3/4" 28 A36

p45 1 PL3/4"X16" 1'-10" 75 A36

3/4"Ø A325N BOLT 0'-2 1/2"8 Site

TOTAL WEIGHT THIS DRAWING 1797

ONE - COLUMN - C9

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C9

COLUMNC9 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



a12

a12

p8 (B/S)

p23 (B/S)

a12

p5 (B/S)

p48

a12

a12

C
10

Ea
st

W
14

X9
0

DD

51
4/

3

512/

bp3

a12

EE

CC
TYP

BB

14
'-8

R
D

A

A

512/ 414/

6 - 1316/ Ø HOLES

18 - 1316/ Ø HOLES

p21

14/
14/

3 SIDES
TYP

61
8/

3 4/
41

'-1
11

8/
3 4/

42
'-0

5 8/

61
8/

61
8/

51
16/

61
5 16/

40
'-3

1 2/
38

'-8
29

'-2

414/414/

414/

39
'-6

1 2/
16

'-8
11

16/
R

D

3
3

3

3
3

3
3

A - A

a12

40
'-6

7 8/2- p8

bp3

a12

10 - 1316/ Ø HOLES

2- p23

p48

a12

1 - 1316/ Ø HOLE

p5

a12

a12

41
'-1

7 8/
R

D

C
10

6 - (1316/ "x1") SLOTS p5

a12

p21
CTR'D

14/
TYP

878/ 878/

234/ 234/

99
16/

11716/

3
3

3
3

3
3

E - E

p8 p5

p5p8

316/

14/
14/

3 SIDES
TYP

316/

p23

D - D

p23 14/
14/

3 SIDES
TYP

31
4/

B - B

5

14/
14/

6 - 1 116/ Ø HOLESbp3 p21

14/

1'
-1

11
4/

1'-6

4

6

4 5

5
5

4
2

C - C

a12

2 - 1316/ Ø HOLES

3
2

3

1014/

ONE - COLUMN - C10
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C10

COLUMNC10 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL

REVISIONS

NO DESCRIPTION DATE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C10 1

C10 1 W14X90 41'-11 1/8" 3781 SHOP PRIME A992

SQ-2COLUMN

a12 6 L6X6X1/2 0'-10" 98 A36

bp3 1 PL3/4"X18" 1'-11 1/4" 89 A36

p5 2 PL3/8"X10 3/16" 1'-2 3/4" 28 A36

p8 2 PL3/8"X7 1/16" 1'-0 5/8" 19 A36

p21 1 PL1/2"X14" 1'-3 5/8" 27 A36

p23 2 PL3/4"X7 1/16" 1'-0 5/8" 37 A36

p48 1 PL3/4"X14" 1'-2 1/2" 43 A36

TOTAL WEIGHT THIS DRAWING 4122



BB

C
11

Ea
st

W
14

X1
20

14/
14/

3 SIDES

bp1

29
'-2

a13

TYP

a22

14
'-8

R
D

3

p8 (B/S)

a16

DD

p47

TYP

a16

41
'-1

11
8/

p5

38
'-8

EE

CC

61
8/

A

A

FF

412/

p23 (B/S)

6 - 1316/ Ø HOLES

17
'-1

03
8/

3 4/

40
'-3

1 2/

3 4/

42
'-0

5 8/

51
4/

512/ 412/

3

bp1

A - A

3 - (1316/ "x1") SLOTS
p5 p47

a13

a22

p23

234/

C
11

8 - 1316/ Ø HOLES

234/

14/
TYP

41
'-1

7 8/
R

D

14/
TYP

81516/

2- a16

6 - 1316/ Ø HOLES

10 - 1316/ Ø HOLES

234/234/

61
1 16/

39
'-6

1 4/
15

'-3

3
3

3
3

3
3

3
3

1'
-4

3
3

F - F

p5
316/

p8

p8

14/
14/

14/
14/

3 SIDES
TYP

p23

E - E

p23
14/
14/

3 SIDES
TYP

14/

B - B

bp1

5 4

1'
-8

4 - 1 116/ Ø HOLES

5

1'-6

5
5

5
5

4

3

C - C
2 - 1316/ Ø HOLES

a22

3
2

2

1014/

1014/

D - D

a16

1 - 1316/ Ø HOLE

3
3

ONE - COLUMN - C11
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C11

COLUMNC11 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL

REVISIONS

NO DESCRIPTION DATE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C11 1

C11 1 W14X120 41'-11 1/8" 5037 SHOP PRIME A992

SQ-2COLUMN

a13 1 L6X6X1/2 0'-10" 16 A36

a16 2 L6X6X1/2 0'-6" 20 A36

a22 1 L6X6X1/2 0'-10" 16 A36

bp1 1 PL3/4"X18" 1'-8" 77 A36

p5 1 PL3/8"X10 3/16" 1'-2 3/4" 14 A36

p8 2 PL3/8"X7 1/16" 1'-0 5/8" 19 A36

p23 2 PL3/4"X7 1/16" 1'-0 5/8" 37 A36

p47 1 PL3/4"X14 1/2" 1'-2 5/8" 45 A36

TOTAL WEIGHT THIS DRAWING 5281



a15

a15

311 16/

a15

C
U

T

p45

a15

a15

6 - 1316/ Ø HOLES

BB
p10

35 16/

C
12

Ea
st

W
14

X6
1

11
'-7

1 4/

6

24
'-9

7 16/

bp4

a15

3 4/

DD

TYP

A

A

CC

22
'-7

1 4/

14/

11
1 16/

61
8/

61
8/

24
'-1

11
3 16/

10
'-6

1 4/
R

D
23

'-1
07

8/

12
13.31°

21
3 16/6

35
16/

234/234/

61
8/

3
3

A - A

14/
14/

TYP

p10
CTR'D

p45

a15

bp4

a15

a15

a15

1 - 1316/ Ø HOLES

9716/

11
1 8/

D - D

23
4/

8 - 1 116/ Ø HOLES

p45

23
4/

2

3

B - B

p10

6 - 1 116/ Ø HOLESbp4

14/
14/

3 SIDES

3

5

44

1'
-9

1 4/

1'-2

5
6

31
4/

2

C - C

2

a15a15 1014/

2 - 1316/ Ø HOLES 2 - 1316/ Ø HOLES

2
3

3

2
3

3

1014/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C12 1

C12 1 W14X61 24'-9 7/16" 1510 SHOP PRIME A992

SQ-1/BEV-1COLUMN

a15 6 L6X6X1/2 0'-10" 98 A36

bp4 1 PL3/4"X14" 1'-9 1/4" 63 A36

p10 1 PL1/2"X13 11/16" 1'-3 1/2" 27 A36

p45 1 PL3/4"X16" 1'-10" 75 A36

3/4"Ø A325N BOLT 0'-2 1/2"8 Site

TOTAL WEIGHT THIS DRAWING 1773

ONE - COLUMN - C12

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C12

COLUMNC12 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



29
'-2

p5 (B/S)

a12

42
'-0

5 8/

3 4/

17
'-1

03
8/

bp1

p48

C
13

Ea
st

W
14

X9
0

40
'-3

1 2/

38
'-8

a12

3 4/

a12

a12

CC

a12

TYP

414/

DD

A

A

61
8/

BB

61
8/

41
'-1

11
8/

p23 (B/S)

EE

414/

6 - 1316/ Ø HOLES

a12

p8 (B/S)

14/
14/

3 SIDES

512/

14
'-8

R
D

51
4/

61
8/

3
3

41
'-1

7 8/
R

D

3

p5

A - A

234/
p5

2- p8

a12

bp1

p48 10 - 1316/ Ø HOLES

a12

C
13

14/
TYP

6 - (1316/ "x1") SLOTS

878/

a12

234/

3

a12

a12

40
'-6

7 8/

2- p23

a12

3

878/

3

3
3

E - E
p5

p8 p5

14/
14/

3 SIDES
TYP

14/
14/

TYP

p8

316/

316/

p23

D - D

p23 14/
14/

3 SIDES
TYP

4

B - B

5

bp1

5

4 - 1 116/ Ø HOLES

14/

4

1'-6

1'
-8

5
5

5
5

C - C
2 - 1316/ Ø HOLES

3

a12
1014/

2
3

2

ONE - COLUMN - C13
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C13

COLUMNC13 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL

REVISIONS

NO DESCRIPTION DATE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C13 1

C13 1 W14X90 41'-11 1/8" 3781 SHOP PRIME A992

SQ-2COLUMN

a12 6 L6X6X1/2 0'-10" 98 A36

bp1 1 PL3/4"X18" 1'-8" 77 A36

p5 2 PL3/8"X10 3/16" 1'-2 3/4" 28 A36

p8 2 PL3/8"X7 1/16" 1'-0 5/8" 19 A36

p23 2 PL3/4"X7 1/16" 1'-0 5/8" 37 A36

p48 1 PL3/4"X14" 1'-2 1/2" 43 A36

TOTAL WEIGHT THIS DRAWING 4083



p6 (B/S)

3 4/

BB

A

A

19
'-0

1 8/

18
'-1

05
8/

3 4/

bp2

p22 (B/S)

p46

p6 (B/S)
p3

C
14

Ea
st

W
14

X4
8

14/
14/

3 SIDES

CC

63
16/

DD

18
'-9

3 8/
17

'-1
11

16/
R

D

4- p6

bp2

10 - 1316/ Ø HOLES

p46

A - A

3
3

17
'-1

13
4/

3

3 - (1316/ "x1") SLOTS
p3

4 - 1316/ Ø HOLES

C
14

2- p22

16
'-7

15
'-3

R
D

17
'-6

3 4/

234/234/

558/

3

3
3

B - B

1'
-4

1'-2

14/
14/

3 SIDES

3

3

4 - 1 116/ Ø HOLESbp2

3
5

4

5

34

C - C

p22

14/
14/

3 SIDES
TYP

p22

D - D

14/
14/

p6

14/
14/

3 SIDES
TYP

p3

p6

18/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C14 1

C14 1 W14X48 18'-10 5/8" 906 SHOP PRIME A992

SQ-2COLUMN

bp2 1 PL3/4"X14" 1'-4" 48 A36

p3 1 PL3/8"X7" 1'-1 1/8" 8 A36

p6 4 PL3/8"X3 13/16" 1'-0 1/2" 20 A36

p22 2 PL3/4"X3 13/16" 1'-0 1/2" 20 A36

p46 1 PL3/4"X8" 1'-1 3/4" 23 A36

TOTAL WEIGHT THIS DRAWING 1026

ONE - COLUMN - C14

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C14

COLUMNC14 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



11
'-7

1 4/

61
8/

a16

a16

p45

311 16/

24
'-9

1 2/

a16

a16

a16

14/

C
15

Ea
st

W
14

X1
20

B

B A

A

p18

bp3

61
8/

19
16/

6 - 1316/ Ø HOLES

23
'-1

07
8/

3 4/

C
U

T
61

8/

a16

CC

DD

3
TYP

22
'-7

1 4/

EE

3

24
'-1

11
3 16/

10
'-6

1 4/
R

D

234/

12
13.31°

21
3 16/

37
16/

35 16/ 6
6

234/

8 - 1316/ Ø HOLES

A - A

1'
-4

a16

a16

bp3

17
'-7

16
'-3

p18
CTR'D

1 - 1316/ Ø HOLE

a16

a16

p45

14/
TYP

11
1 4/

234/234/

9916/

3
3

E - E

23
4/

8 - 1 116/ Ø HOLESp45

23
4/

bp3

B - B

1 - 1316/ Ø HOLE

234/

4 - 1316/ Ø HOLES

17
'-7

2- a16

234/

p18

p45

16
'-3

R
D

1'-6

4

C - C

5

bp3

4

6 - 1 116/ Ø HOLES

5

p18

14/

14/
14/

1'
-1

11
4/

5

31
4/

6
5

4

a16

D - D
1 - 1316/ Ø HOLE

a16

1 - 1316/ Ø HOLE

1014/1014/

3

3
3

3

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

C15 1

C15 1 W14X120 24'-9 1/2" 2978 SHOP PRIME A992

SQ-1/BEV-1COLUMN

a16 6 L6X6X1/2 0'-6" 59 A36

bp3 1 PL3/4"X18" 1'-11 1/4" 89 A36

p18 1 PL1/2"X13 11/16" 1'-3 5/8" 27 A36

p45 1 PL3/4"X16" 1'-10" 75 A36

3/4"Ø A325N BOLT 0'-2 1/2"8 Site

TOTAL WEIGHT THIS DRAWING 3228

ONE - COLUMN - C15

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C15

COLUMNC15 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



3

1'
-2

LP1
PL14/ "X14 4 - 1316/ Ø HOLES

1'-4

8
3

3103

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

LP1 3

LP1 3 PL1/4"X14" 1'-4" 48 NO PAINT A36

SQ-2LEVELING PLATES

TOTAL WEIGHT THIS DRAWING 48

3 - LEVELING PLATES - LP1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LP1

LEVELING PLATELP1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



5

LP2
PL14/ "X18 4 - 1316/ Ø HOLES

1'-8

1'
-6 8

5

5

105

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

LP2 3

LP2 3 PL1/4"X18" 1'-8" 77 NO PAINT A36

SQ-2LEVELING PLATES

TOTAL WEIGHT THIS DRAWING 77

3 - LEVELING PLATES - LP2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LP2

LEVELING PLATELP2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



8

6 - 1316/ Ø HOLES

314/

1'
-6

10

5

4

LP3
PL14/ "X18

1'-1114/

5

6

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

LP3 5

LP3 5 PL1/4"X18" 1'-11 1/4" 148 NO PAINT A36

SQ-2LEVELING PLATES

TOTAL WEIGHT THIS DRAWING 148

5 - LEVELING PLATES - LP3

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LP3

LEVELING PLATELP3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



3

2

LP4
PL14/ "X14 6 - 1316/ Ø HOLES

3
81'
-2

314/

1'-914/

10 6

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

LP4 3

LP4 3 PL1/4"X14" 1'-9 1/4" 63 NO PAINT A36

SQ-2LEVELING PLATES

TOTAL WEIGHT THIS DRAWING 63

3 - LEVELING PLATES - LP4

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LP4

LEVELING PLATELP4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



MA1
L6X4X38/

28'-4

6

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MA1 2

MA1 2 L6X4X3/8 28'-4" 1392 SHOP PRIME A36

SQ-2ANGLES

TOTAL WEIGHT THIS DRAWING 1392

2 - ANGLES - MA1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MA1

ANGLEMA1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



MA2
L6X4X38/

30'-0

6

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MA2 2

MA2 2 L6X4X3/8 30'-0" 737 SHOP PRIME A36

SQ-2ANGLES

TOTAL WEIGHT THIS DRAWING 737

2 - ANGLES - MA2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MA2

ANGLEMA2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



MA3
L8X8X34/

19'-1516/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MA3 1

MA3 1 L8X8X3/4 19'-1 5/16" 748 SHOP PRIME A36

SQ-2ANGLE

TOTAL WEIGHT THIS DRAWING 748

ONE - ANGLE - MA3

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MA3

ANGLEMA3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



MA4
L8X8X34/

20'-0

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MA4 1

MA4 1 L8X8X3/4 20'-0" 783 SHOP PRIME A36

SQ-2ANGLE

TOTAL WEIGHT THIS DRAWING 783

ONE - ANGLE - MA4

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MA4

ANGLEMA4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



4 - 1316/ Ø HOLES

MP1
PL12/ "X21 516/

10
15

16/
1'-91116/

61
4/

518/1138/518/

53
16/

6 6

6 6

1'
-9

5 16/

61
4/

53
16/

61
4/

61
4/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP1 2

MP1 2 PL1/2"X21 5/16" 1'-9 11/16" 110 SHOP PRIME A36

SQ-2GUSSET PLATES

TOTAL WEIGHT THIS DRAWING 110

2 - GUSSET PLATES - MP1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP1

GUSSET PLATEMP1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



1'-612/

4716/

4 - 1316/ Ø HOLES

4916/
47

16/

MP2
PL12/ "X18 14/

958/4716/

4916/

4916/ 4916/

1'
-6

1 4/

47
16/

97
16/

45
8/

45
8/

45
8/

45
8/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP2 1

MP2 1 PL1/2"X18 1/4" 1'-6 1/2" 42 SHOP PRIME A36

SQ-2GUSSET PLATE

TOTAL WEIGHT THIS DRAWING 42

ONE - GUSSET PLATE - MP2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP2

GUSSET PLATEMP2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



111116/ 438/

MP3
PL12/ "X18 116/

4 - 1316/ Ø HOLES

438/

1'-8716/

4116/ 4116/

4116/ 4116/

51
8/

47
16/

91
4/

47
16/ 51

8/

1'
-6

1 16/

51
8/

51
8/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP3 1

MP3 1 PL1/2"X18 1/16" 1'-8 7/16" 47 SHOP PRIME A36

SQ-2GUSSET PLATE

TOTAL WEIGHT THIS DRAWING 47

ONE - GUSSET PLATE - MP3

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP3

GUSSET PLATEMP3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



MP4
PL1"X10

1'-6

10

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP4 4

MP4 4 PL1"X10" 1'-6" 204 SHOP PRIME A36

SQ-2PLATES

TOTAL WEIGHT THIS DRAWING 204

4 - PLATES - MP4

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP4

PLATEMP4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



4

MP5
PL12/ "X18 116/

4 - 1316/ Ø HOLES

4

1'-858/

438/
51

8/
1178/438/

51
8/

51
8/

1'
-6

1 16/

47
16/

91
4/

47
16/

4

51
8/

4

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP5 1

MP5 1 PL1/2"X18 1/16" 1'-8 5/8" 47 SHOP PRIME A36

SQ-2GUSSET PLATE

TOTAL WEIGHT THIS DRAWING 47

ONE - GUSSET PLATE - MP5

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP5

GUSSET PLATEMP5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



41
3 16/

438/
47

16/

1'
-6

3 16/

MP6
PL12/ "X18 316/

4 - 1316/ Ø HOLES

41
3 16/

1038/

41
3 16/

47
16/

93
8/

438/

1'-7316/

438/

438/

438/ 438/

41
3 16/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP6 1

MP6 1 PL1/2"X18 3/16" 1'-7 3/16" 44 SHOP PRIME A36

SQ-2GUSSET PLATE

TOTAL WEIGHT THIS DRAWING 44

ONE - GUSSET PLATE - MP6

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP6

GUSSET PLATEMP6 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



41
5 16/

41
5 16/

4 - 1316/ Ø HOLES

438/

MP7
PL12/ "X18 316/

1078/438/

414/

1'
-6

3 16/

41
5 16/

414/

414/ 414/

47
16/

95
16/

47
16/

1'-71116/

41
5 16/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP7 1

MP7 1 PL1/2"X18 3/16" 1'-7 11/16" 45 SHOP PRIME A36

SQ-2GUSSET PLATE

TOTAL WEIGHT THIS DRAWING 45

ONE - GUSSET PLATE - MP7

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP7

GUSSET PLATEMP7 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



4116/

4 - 1316/ Ø HOLES

47
16/

438/

4116/

4116/

4116/

MP8
PL12/ "X18 116/

1'-838/

1158/438/

51
16/

51
16/

1'
-6

1 16/

47
16/

91
4/

51
16/

51
16/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP8 1

MP8 1 PL1/2"X18 1/16" 1'-8 3/8" 46 SHOP PRIME A36

SQ-2GUSSET PLATE

TOTAL WEIGHT THIS DRAWING 46

ONE - GUSSET PLATE - MP8

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP8

GUSSET PLATEMP8 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



11
2/

MP9
PL38/ "X12

3

138/

16 - 1316/ Ø HOLES

112/

1'
-0

11
2/

418/

1'-1

3 3

3
3

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

MP9 12

MP9 12 PL3/8"X12" 1'-1" 199 SHOP PRIME A36

SQ-2PLATES

3/4"Ø A325N BOLT 0'-2 1/4"96 Site

TOTAL WEIGHT THIS DRAWING 199

12 - PLATES - MP9

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP9

PLATEMP9 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



VB1
PIPE6STD

21'-10916/RD

1 - 1316/ Ø THR'U HOLE3 1 - 1316/ Ø THR'U HOLE

22'-1916/

5 16/

CTR'D
SLOT

VB1
612/612/

CTR'D
SLOT

5 16/

5 16/
5 16/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB1 2

VB1 2 PIPE6STD 22'-1 9/16" 783 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-7 3/4"4 Site

TOTAL WEIGHT THIS DRAWING 783

2 - VERTICAL BRACES - VB1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB1

VERTIAL BRACEVB1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



3

10'-8916/

VB2
PIPE6STD

1 - 1316/ Ø THR'U HOLE1 - 1316/ Ø THR'U HOLE

10'-5916/RD

VB2

5 16/

CTR'D
SLOT

CTR'D
SLOT

5 16/

612/
5 16/

5 16/
612/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB2 2

VB2 2 PIPE6STD 10'-8 9/16" 379 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-7 3/4"4 Site

TOTAL WEIGHT THIS DRAWING 379

2 - VERTICAL BRACES - VB2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB2

VERTIAL BRACEVB2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



1 - 1316/ Ø THR'U HOLE1 - 1316/ Ø THR'U HOLE

12'-1138/RD

3

VB3
PIPE6STD

13'-238/

CTR'D
SLOT

CTR'D
SLOT

5 16/

612/

5 16/

VB3

5 16/
5 16/

612/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB3 2

VB3 2 PIPE6STD 13'-2 3/8" 934 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-7 3/4"4 Site

TOTAL WEIGHT THIS DRAWING 934

2 - VERTICAL BRACES - VB3

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB3

VERTIAL BRACEVB3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



1 - 1316/ Ø HOLE1 - 1316/ Ø HOLE

17'-2116/RD

3

VB4
PIPE6STD

17'-5116/

5 16/

612/

5 16/

VB4CTR'D
SLOT CTR'D

SLOT

5 16/
5 16/

612/

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB4 2

VB4 2 PIPE6STD 17'-5 1/16" 1233 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-7 3/4"4 Site

TOTAL WEIGHT THIS DRAWING 1233

2 - VERTICAL BRACES - VB4

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB4

VERTIAL BRACEVB4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



CTR'D
SLOTCTR'D

SLOT

5 16/

13'-7116/

VB5
PIPE4STD

612/612/

5 16/ 5 16/
5 16/

3

1 - 1316/ Ø THR'U HOLE

VB5

13'-4116/RD

1 - 1316/ Ø THR'U HOLE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB5 2

VB5 2 PIPE4STD 13'-7 1/16" 274 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-5 1/2"4 Site

TOTAL WEIGHT THIS DRAWING 274

2 - VERTICAL BRACES - VB5

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB5

VERTIAL BRACEVB5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



CTR'D
SLOT

5 16/

612/

VB6
PIPE4STD

CTR'D
SLOT

11'-6516/
612/

5 16/
5 16/ 5 16/

11'-3516/RD

1 - 1316/ Ø THR'U HOLE

3

1 - 1316/ Ø THR'U HOLE

VB6

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB6 3

VB6 3 PIPE4STD 11'-6 5/16" 348 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-5 1/2"6 Site

TOTAL WEIGHT THIS DRAWING 348

3 - VERTICAL BRACES - VB6

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB6

VERTIAL BRACEVB6 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



CTR'D
SLOT

5 16/
5 16/

CTR'D
SLOT

VB7
PIPE4STD

5 16/
5 16/

612/
612/

11'-614/

1 - 1316/ Ø THR'U HOLE

VB7

1 - 1316/ Ø THR'U HOLE

3

11'-314/RD

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB7 1

VB7 1 PIPE4STD 11'-6 1/4" 116 SHOP PRIME A53

SQ-2VERTICAL BRACE

3/4"Ø A307 BOLT 0'-5 1/2"2 Site

TOTAL WEIGHT THIS DRAWING 116

ONE - VERTICAL BRACE - VB7

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB7

VERTIAL BRACEVB7 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



CTR'D
SLOT 612/

CTR'D
SLOT

VB8
PIPE4STD

612/
13'-0

5 16/
5 16/

5 16/
5 16/

VB8

1 - 1316/ Ø THR'U HOLE 1 - 1316/ Ø THR'U HOLE

3

12'-9RD

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB8 2

VB8 2 PIPE4STD 13'-0" 262 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-5 1/2"4 Site

TOTAL WEIGHT THIS DRAWING 262

2 - VERTICAL BRACES - VB8

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB8

VERTIAL BRACEVB8 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



CTR'D
SLOT

CTR'D
SLOT

5 16/

612/ VB9
PIPE4STD

14'-1034/

612/

5 16/ 5 16/
5 16/

14'-734/RD

3

1 - 1316/ Ø THR'U HOLE

VB9

1 - 1316/ Ø THR'U HOLE

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB9 2

VB9 2 PIPE4STD 14'-10 3/4" 300 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-5 1/2"4 Site

TOTAL WEIGHT THIS DRAWING 300

2 - VERTICAL BRACES - VB9

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB9

VERTIAL BRACEVB9 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL



CTR'D
SLOT

CTR'D
SLOT 612/

VB10
PIPE4STD

612/

14'-058/

5 16/
5 16/

5 16/
5 16/

VB10

1 - 1316/ Ø THR'U HOLE1 - 1316/ Ø THR'U HOLE

3

13'-958/RD

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

VB10 2

VB10 2 PIPE4STD 14'-0 5/8" 566 SHOP PRIME A53

SQ-2VERTICAL BRACES

3/4"Ø A307 BOLT 0'-5 1/2"4 Site

TOTAL WEIGHT THIS DRAWING 566

2 - VERTICAL BRACES - VB10

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB10

VERTIAL BRACEVB10 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

ROCKWELL PARK (NORTH LEXINGTON, PITTSBURGH,PA)

ASM SJL




